A=l 97

RFrdn] - WRIEZAH - 248
FHAE - IERS

BIIZRREH AR 028 E IR T HE A

# | 58/ H

ESEHE 0 0223 &k 3

X FEFEE - BN IR ER

1| @ B2 0= sins, guseett 50 =0 > B0 ?
2
20| O T2 1 500 = sins, pet o) =0, LD =0 )2
2
@5 T 50=1 8307
2 | B THEZES AR XA Laplace #4: ? (FIZEIR] » FEK#E )
‘—-'xl(t) r&(’)
V7, X, k, .
L AAAA ___:
= L m,
01 A
| gt n@=a, D05 n0=, 220
‘ 0, ~r<x<0 .
3. | PREABEAR 2n 2 B f(x)={1 O<r<n Z AT BER B(Fourier series)RH] 7
16% | ()T f(x)={ Lo SR<XST o evraemMm (Fourier transform) ?
0, elsewhere
1 -1 3 1]y 1
4 | /01 -3 SH J= 2 | FUF Gauss IREER IR -
1 0 -1 11}x 0
1 0 2 -1jlx) |-5
N uy, us ulx) [a 1 -1 3 ~1] [¢4; 0 0 Ol wy u; wy,
15%] (@)|0 1 wy uy M0 1 =3 5| £y £ 0 00 1 4y uy
0 0 1 wuyllx| |e 1 0 =1 1| [€y 3 25 0§00 0 1 uy
10 0 0 1jix) e 1 0 2 =1 i€y Lo Lo a0 0 0 1
’ Xu, s X5 Cps Zy ?(gﬁﬁqﬁﬂﬁﬁ:\')
-4 1 01
S. TX[ g0 100 Z Fk(rank) ? E5Ei{E(eigenvalues) ? K R a) B (eigenvectors) ?
0 0 20
1 00 3
15 %
6 | @F(x,y)=(2xy* + y) +(2x’y +e*y)] BERETE ? DR -yf—i i
20%| (1,2,3) B BEPE (gradient) ? (c)zt—yf —3’;— 16 (1,2, 3) BREE x MEAT )2 5 0 W B (directional
derivatives) ? (d)3R yzi + xzj — xyk 7£ (1, 2, 3) B2 BER (curl) ?




